
Fibonacci Code Verification 
 

Given the Fibonacci sequence, f f0 10 1 , , and f f fi i i  1 2 ,  prove that the program 

segment 
 

fibm2 := 0 
fibm1 := 1 
i := 2 
while i n do 
 fib := fibm1+fibm2 
 fibm2 = fibm1 
 fibm1 = fib 
 i := i+1 
end 

 

is partially correct with respect to precondition "n 2 " and postcondition " nfib f  ". 

 
 ___________________n  2  

fibm2 := 0 __________n fibm  2 2 0 

fibm1 := 1 __________n fibm fibm    2 2 0 1 1 

i := 2 ______________ n fibm fibm i      2 2 0 1 1 2  

       _______________ 2 1 11 2 1 ( 3 ) 2i i ii n fibm f fibm f i fib f n               

while i n do___________ 2 1 12 1 ( 3 ) 2i i ii n fibm f fibm f i fib f n              

 fib := fibm1+fibm2____ 2 12 1i ii n fibm f fibm f      2ifib f n     

 fibm2 = fibm1 _______ 1 12 1 2i i ii n fibm f fibm f fib f n           

 fibm1 = fib__________ 12 1 2i i ii n fibm f fibm f fib f n          

 i := i+1 __________ 2 1 11 2 1 2i i ii n fibm f fibm f fib f n             

end__________ 2 1 11 2 1 ( 3 ) 2i i ii n fibm f fibm f i fib f n               

  _______ 2 1 11 2 1 ( 3 ) 2i i ii n i n fibm f fibm f i fib f n                 

  _______ i n i fib f ni       1 3 21( )  

    ______ nfib f  


